Subcommittee Meeting of the Committee of Permanent Representatives 4 October 2018, 9:30 a.m. to 4:30 p.m. United Nations Office at Nairobi Gigiri Conference Room 4

Background Document for Agenda Item 4: Briefing from the Secretariat on the Interim Secretariat for China-Africa Environmental Cooperation Centre.

This note serves as a background document for discussions under Agenda Item 4: Briefing from the Secretariat on the Interim Secretariat for China-Africa Environmental Cooperation Centre. The Letter of Intent was signed by Ministry of Environmental Protection of the People's Republic of China, Government of the Republic of Kenya and United Nations Environment Programme on 5 December 2017.







Republic of Kenya

Collaboration between

Ministry of Environmental Protection of the People's Republic of China, Government of the Republic of Kenya and **United Nations Environment Programme**

nη

A Joint Project for the Establishment of a **China-Africa Environmental Cooperation Centre**

LETTER OF INTENT

Referring to the various consultations between officials of the Ministry of Environmental Protection of the People's Republic of China (thereafter referred to as MEP), the Government of the Republic of Kenya (thereafter referred to as Kenya), United Nations Environment Programme and the relevant missions of African countries to United Nations Environment Programme and to African Union Commission regarding the Joint Project for the Establishment of a China-Africa Environmental Cooperation Centre (thereafter referred to as Centre),

Recalling the Memorandum of Understanding between United Nations Environment Programme and MEP on building a green "Belt and Road" signed on December 8, 2016,

Recalling the Johannesburg Action Plan (2016-2018) adopted at Johannesburg Summit and the 6thMinisterial Conference of the Forum on China-Africa Cooperation (FOCAC), 3 to 5 December 2015, where a pledge was made to set up the China-Africa Environmental Cooperation Center as part of the efforts to advance the China-Africa relationship to a comprehensive strategic cooperative partnership,

Welcoming that the Centre envisages to strengthen China-Africa environmental cooperation to support the achievement of the 2030 Agenda for Sustainable Development and its 17 Sustainable Development Goals.

In this regard, MEP and United Nations Environment Programme intend to jointly:

- a) Cooperate in the establishment of the Centre to strengthen cooperation between China and African countries in the environment field as well as boost green technologies, investments and development in the spirit of South-South cooperation.
- b) Cooperate in facilitating the conclusion of a host country agreement for the Centre with Kenya Government and in encouraging participation of African countries and institutions in the work of the Centre.
- c) Facilitate the development of the governance structure, funding strategies and programme of the Centre.
- d) Determine the allocation of funds from China Trust Fund in United Nations Environment Programme for the inception of the Centre.
- e) Mobilize funding and other resources from international institutions, partners, business, public and private sectors, among others.

On the part of MEP, the following will be the intended actions to be taken:

a) Mobilize funding and other support from partners including international intergovernmental organizations and non-governmental organizations.

On the part of Kenya, the following will be the intended actions to be taken:

- a) Consult with its relevant departments towards the establishment of and grant of diplomatic status and necessary immunities to the Centre and its operations.
- b) Facilitate the negotiations with MEP and United Nations Environment Programme towards the conclusion of the Host Country Agreement for the Centre.
- c) Support the mobilisation of participation of African countries, mobilisation of resources and partners.

On the part of United Nations Environment Programme, the following will be the intended actions to be taken:

- a) Provide office space and supporting facilities for the Centre during the initial operation.
- b) Provide in-kind contribution for initial operation of the Centre.
- Appoint, in close consultation with MEP, a Director for the Centre who will be responsible for its overall management and operation.

7 + -

Li Ganjie
Ministry of Environmental
Protection of the People's Republic of
China

Judi Wakhungu

Republic of Kenya

Erik Solheim United Nations Environment Programme

1. Launch Budget

Description	No. of Pax	Budget (in USD)	Total Budget (in USD)
Reception	100	15	1,500
Office Plaque (estimate)	1	300	300
Venue Costs (Conference Rm 1)	1	1,786	1,786
Media (per diem)	20	56	1,128
Banner	1	850	850
TOTAL			5,564
		=	
Office Space:			
Furniture:			
Executive Desk	1	590	590
Executive high level cabinet	1	380	380
High back chair	1	170	170
High back chair with mesh	3	490	1,470
L-Shaped desk	3	355	1,065
VAT @16% (included in Quotation)			588
Sub-total			4,263
Equipment:			
Telephone Headsets:			
(a) Executive Cisco IP Phone 8841	1	257	257
(b) Cisco IP Phone 7821	3	128	384
Laptops (includes screen, keyboard	3	1,850	5,550
and mouse)			
Sub-total			6,191
TOTAL			16,018